Cll# Trouver lalongueur de c6té manquante du triangle rectangle (aire) Nom:

Trouvez lavaleur dex.

1) area=161°

4) area=8U°

7) area=18 U*

10) area=17.51°

2) area=1350°

L~

9

5) area=14 U

8) area=36 U7

11) area=2°

3) area=6U°

\

6) area=21U°

9) area=27°

N

12) area=13.5 17

\

AN

Réponses

10.

11

12.
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Ch Trouver lalongueur de c6té manquante du triangle rectangle (aire) Nom:

Clé
Trouvez lavaleur dex. Réponses

1) area=161° 2) area=1350° 3) area=6U° 3

1.
R ) 3

9

3 2
4 X 4 2
5 7
4) area=8U° 5) area=14 U 6) area=21U° -

6
7 9
8 8
X 4 6 9 5)
10. 7

7) area=18 U* 8) area=36 U7 9) area=27°

11. 2
12 9

10) area=17.51°

11) area=2°

N

12) area=13.5 17

\
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